LOT	QTY	DESCRIPTION
1		HM3317 PACK OF CCA TREATED PINE SLEEPERS MERCH GRADE 200 x 100, 8@ 1.8 L/M
2		H4797 PACK OF CCA TREATED PINE SLEEPERS MERCH GRADE 200 x 50, 12@ 1.8 L/M
3		H4798 PACK OF CCA TREATED PINE SLEEPERS MERCH GRADE 200 x 50, 16@ 2.4 L/M
4		H4815 PACK OF CCA TREATED PINE SLEEPERS MERCH GRADE 200 x 75, 15@ 2.4 L/M
5		D06353 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M
6		D06186 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 13 LENGTHS @ 4.2 METRE = 55 L/M
7		D06187 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 24 LENGTHS @ 4.8 METRE = 115 L/M
8		6219752 PACK OF LOSP TREATED PINE TIMBER MERCH GRADE 90 x 22mm 120 LENGTHS @ 3.6 = 432 L/M
9		6219750 PACK OF LOSP TREATED PINE TIMBER MERCH GRADE 90 x 22mm 120 LENGTHS @ 3.6 = 432 L/M
10		D06342 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.0 METRE = 96 L/M
11		D06341 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.0 METRE = 96 L/M
12		D06325 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.0 METRE = 96 L/M
13		D06354 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M
14		D06356 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M

LOT	QTY	DESCRIPTION
15		D06358 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M
16		D06352 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M
17		D06349 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M
18		6233487 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 35 70 LENGTHS, 16/4.8,9/5.4,45/6.0 = 395 L/M
19		6233344 PACK OF TREATED PINE TIMBER MERCH GRADE 190 x 35 56 LENGTHS, 7/4.8,2/5.4,47/6.0 = 326 L/M
20		6234604 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 35 31 LENGTHS, 14/4.8,3/5.4,13/6.0 =166 L/M
21		D06379 PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35 20 LENGTHS @ 4.8 = 96 L/M
22		D06382 PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35 54 LENGTHS @ 4.8 = 259 L/M
23		D06383A PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35 54 LENGTHS @ 4.8 = 259 L/M
24		D06384 PACK OF TREATED PINE TIMBER MERCH GRADE 125 x 20 43 LENGTHS @ 6.0 = 258 L/M
25		D06381 PACK OF TREATED PINE TIMBER MERCH GRADE 100 x 50, 32 LENGTHS @ 6.0 = 192 L/M
26		X3371 PACK OF TREATED PINE TIMBER MERCH GRADE 190 x 45 28 LENGTHS @ 3.6 = 101 L/M

LOT	QTY	DESCRIPTION
27		6233511 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 35 70 LENGTHS, 3/2.4,17/3.0,24/3.6,26/4.2 = 254 L/M
28		6233356 PACK OF TREATED PINE TIMBER MERCH GRADE 190 x 35 23 LENGTHS, 9/3.6,14/4.2 = 391 L/M
29		6234608 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 35 67 LENGTHS, 7/2.4,12/3.0,39/3.6,9/4.2 = 231 L/M
30		A99 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 35 111 LENGTHS, 21/2.4,44/3.6,46/4.2 = 402 L/M
31		6234370 PACK OF TREATED PINE TIMBER MERCH GRADE 90 X 45 95 LENGTHS @ 6.0 = 570 L/M
32		6215838 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 36 LENGTHS, 2/4.8,2/5.4,32/6.0 = 212 L/M
33		6215848 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 14 LENGTHS,4/4.8,1/5.4,9/6.0 = 79 L/M
34		6217624 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 36 LENGTHS, 10/4.8,26/6.0 = 204 L/M
35		6222089 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 21 LENGTHS, 3/4.8,2/5.4/16/6.0 =121 L/M
36		6217618 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 36 LENGTHS, 7/4.8,1/5.4,28/6.0 = 207 L/M
37		6218767 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 72 LENGTHS, 1/2.4,5/3.0,34/3.6,33/4.2 = 275 L/M
38		71269A PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 44 LENGTHS @ 4.8 = 211 L/M

LOT	QTY	DESCRIPTION	NOTE
39		6233121 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 86 LENGTHS, 62/4.8,6/5.4,18/6.0 = 438 L/M	
40		6222425 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 11/4.8,2/5.4,83/6.0 = 562 L/M	
41		X3380 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45 60 LENGTHS @ 4.2 = 252 L/M	
42		6234383 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45 96 LENGTHS,18/4.8,21/5.4/57/6.0 = 542 L/M	
43		6233083 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 18/4.8,21/5.4,57/6.0 = 542 L/M	
44		X3427 PACK OF TREATED PINE TIMBER MERCH GRADE 90 X 35 56 LENGTHS, 49/2.4,2/3.0,5/3.6 = 142 L/M	
45		6233076 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 6/3.0,37/3.6,53/4.2 = 374 L/M	
46		6232967 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 4.8 = 576 L/M	
47		6222177 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 4.8 = 576 L/M	
48		6222187 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 4.8 = 576 L/M	
49		6225841A PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 45mm 120 LENGTHS, 13/4.8,6/5.4,101/6.0 = 701 L/M	
50		6222441 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 11/4.8,8/5.4,77/6.0 = 558 L/M	
51		6226502 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 4.8 = 576 L/M	

LOT	QTY	DESCRIPTION
52		D06209 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 68 LENGTHS @ 5.4 = 367 L/M
53		D06210 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 92 LENGTHS @ 5.4 = 497 L/M
54		D06211 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 65 LENGTHS @ 6.0 = 390 L/M
55		6225578 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 60 LENGTHS @ 3.6 = 360 L/M
56		D06213 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 6.0 = 720 L/M
57		6233026 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 72 LENGTHS @ 4.2 = 302 L/M
58		6233021 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 64 LENGTHS @ 5.4 = 346 L/M
59		6233024 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 104 LENGTHS @ 6.0 = 624 L/M